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TAPERED AMPLIFIER CURRENT CONTROL CIRCUIT

J. Thorn N. Fitch Y.Kong P. Martin

Output Limit Resistor, Rlimit:
max current for Rfine-> 0, Rcourse->20k

Imax = (6.95 A) Reourse/ (Rlimit+Rcourse)
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ADDITIONAL CONNECTIONS
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ADDITIONAL OPA549 & DIODE SHORTS CONNECTIONS

External

OPA549 Current Limit Table
(determined by resistance
between pins 6 and 8, see data sheet)

Resistance
Open
226K 2
174K 3
11.3K 4
75K 5
499K 6
7
8
9
1

Current Limit (Amps
0
5

3.24K
1.87K
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LED4 indicates when the voltage of
the external supply is incorrect. It
illuminates both for voltages that
are too high and for those that are

+15V



